



Approximating Common Fixed Points of Two α -Nonexpansive Mappings

Khanitin Muangchoo-in[†], Poom Kumam[‡] and Yeol Je Cho^{§,1}

[†]KMUTTFixed Point Research Laboratory, Department of Mathematics
Room SCL 802 Fixed Point Laboratory, Science Laboratory Building
Faculty of Science, King Mongkut's University of Technology Thonburi
(KMUTT), 126 Pracha-Uthit Road, Bang Mod
Bangkok 10140, Thailand
e-mail : khanitin.math@mail.kmutt.ac.th

[‡]KMUTT-Fixed Point Theory and Applications Research Group
(KMUTT-FPTA), Theoretical and Computational Science Center (TaCS)
Science Laboratory Building, Faculty of Science
King Mongkut's University of Technology Thonburi (KMUTT)
126 Pracha-Uthit Road, Bang Mod, Thrung Khru
Bangkok 10140, Thailand
e-mail : poom.kum@kmutt.ac.th

[§]Department of Mathematics Education and RINS
Gyeongsang National University, Jinju 660-701, Korea
e-mail : yjcho@gnu.kr

Abstract : In this paper, we introduce and approximating common fixed points of two α -nonexpansive mappings through weak and strong convergence of an iterative sequence in a uniformly convex Babach space.

Keywords : α -nonexpansive mapping; weak and strong convergence; Ishikawa iterative scheme.

2010 Mathematics Subject Classification : 47H05; 47H09; 47H10.

¹Corresponding author.

1 Introduction

Let E be an ordered Banach space with the partial order \leq , K be a nonempty subset of an ordered Banach space E . A mapping $T : K \rightarrow K$ is said to be monotone if $Tx \leq Ty$ for all $x, y \in K$ with $x \leq y$ and recall that T is monotone nonexpansive if T is monotone and $\|Tx - Ty\| \leq \|x - y\|$, $\forall x, y \in K$ with $x \leq y$. Following, Aoyama and Kohsaka [1], a mapping $T : C \rightarrow C$ is said to be α -nonexpansive for some $\alpha < 1$ if

$$\|Tx - Ty\|^2 \leq \alpha\|Tx - y\|^2 + \alpha\|Ty - x\|^2 + (1 - 2\alpha)\|x - y\|, \forall x, y \in C. \quad (1.1)$$

Clearly, nonexpansive mapping is 0-nonexpansive maps. An example of a discontinuous α -nonexpansive mapping (with $\alpha > 0$) has been given in [1]. It is well known that, the concept of nonexpansivity of a map T from a convex set plays an important role in the study of the *Mann iteration* given by

$$x_{n+1} = (1 - s_n)x_n + s_nTx_n, x_0 \in K,$$

for each $n \geq 1$, where $s_n \in [0, 1]$ such it was introduced by Mann [2] in 1953.

In 1974, Ishikawa [3] introduced the *Ishikawa iteration* given by

$$x_{n+1} = (1 - a_n)x_n + a_nT(y_n);$$

$$y_n = (1 - b_n)x_n + b_nTx_n.$$

For each $n \geq 1$, where a_n and $b_n \in [0, 1]$. In particular, when all $b_n = 0$, then Ishikawa iteration becomes the standard Mann iteration.

In this paper, we introduce and approximating common fixed points of two α -nonexpansive mappings S and T through weak and strong convergence of the sequence be defined by we use the following Ishikawa iteration [4–6]

$$x_{n+1} = (1 - a_n)x_n + a_nS(y_n); \quad (1.2)$$

$$y_n = (1 - b_n)x_n + b_nTx_n,$$

for each $n \geq 1$, where a_n and $b_n \in [0, 1]$, satisfying certain condition.

2 Preliminaries

Next, we state some useful lemmas and definitions as follows.

Lemma 2.1. [7] *Suppose that E is a uniformly convex Banach space and $0 < p \leq q < 1$ for all $n = 1, 2, \dots$. Suppose further that $\{x_n\}$ and $\{y_n\}$ are sequence of E such that $\lim_{n \rightarrow \infty} \|x_n\| \leq r$, $\lim_{n \rightarrow \infty} \|y_n\| \leq r$ and $\lim_{n \rightarrow \infty} \|t_n x_n + (1 - t_n)y_n\| = r$ hold for some $r \geq 0$. Then $\lim_{n \rightarrow \infty} \|x_n - y_n\| = 0$.*

We recall that a Banach space E is said to satisfy Opial's condition [8] if for any sequence $\{x_n\}$ in E , $x_n \rightharpoonup x$ implies that

$$\limsup_{n \rightarrow \infty} \|x_n - x\| \leq \limsup_{n \rightarrow \infty} \|x_n - y\|$$

for all $y \in E$ with $x \neq y$. Moreover, we also know that a mapping T is called demiclosed with respect to $y \in K$ if for each sequence $\{x_n\} \in K$ and each $x \in E$, $x_n \rightharpoonup x$ and $Tx_n \rightarrow y$ imply that $x \in K$ and $Tx = y$.

Lemma 2.2. [9] *Let E be a uniformly convex Banach space satisfying Opial's condition and K be a nonempty closed convex subset of E . Let $T : K \rightarrow K$ be a nonexpansive mapping. Then $I - T$ is demiclosed with respect to zero.*

Definition 2.3. Let K be a nonempty closed convex subset of Banach space E . A mapping $T : K \rightarrow K$ is said to be :

- (1) α -nonexpansive for some $\alpha < 1$,

$$\|Tx - Ty\|^2 \leq \alpha\|Tx - y\|^2 + \alpha\|Ty - x\|^2 + (1 - 2\alpha)\|x - y\|^2$$

for all $x, y \in K$.

- (2) quasi-nonexpansive if $F(T) \neq \emptyset$ and $\|Tx - p\| \leq \|x - p\|$ for all $p \in F(T)$ and $x \in K$.

Lemma 2.4. *Let K be a nonempty closed convex subset of Banach space E . A mapping $T : K \rightarrow K$ be a α -nonexpansive mapping. Then T is a quasi-nonexpansive.*

Proof.

$$\begin{aligned} \|Tx - p\|^2 &= \|Tx - Tp\|^2 \\ &\leq \alpha\|Tx - p\|^2 + \alpha\|Tp - x\|^2 + (1 - 2\alpha)\|x - p\|^2 \\ &= \alpha\|Tx - p\|^2 + (1 - \alpha)\|x - p\|^2 \\ &\leq \|x - p\|^2 \end{aligned}$$

and so T is a quasi-nonexpansive. \square

3 Weak and Strongly Convergence Theorems

In this section, first we prove the following Lemma which, in fact, forms a major part of the proofs of both weak and strong convergence theorems.

Lemma 3.1. *Let C be a bounded, closed and convex subset of a uniformly convex ordered Banach space (E, \leq) . Let $S, T : C \rightarrow C$ be monotone α -nonexpansive mappings. Assume there exists $x_1 \in C$ such that $x_1 \leq Sx_1$, $x_1 \leq Tx_1$ and there exists $p \in F(S) \cap F(T)$ such that x_1 and p are comparable. Consider the sequences $\{x_n\}$ be defined by Ishikawa's iteration. Then*

$$\lim_{n \rightarrow \infty} \|Sx_n - x_n\| = 0 = \lim_{n \rightarrow \infty} \|Tx_n - x_n\|.$$

Proof. Let $p \in F(S) \cap F(T)$. By Lemma 2.4, we consider

$$\begin{aligned} \|x_{n+1} - p\| &= \|(1 - a_n)x_n + a_nSy_n - p\| \\ &= \|(1 - a_n)x_n + a_nS((1 - b_n)x_n + b_nTx_n) - p\| \\ &\leq \|(1 - a_n)(x_n - p)\| + \|a_nS((1 - b_n)x_n + b_nT(x_n)) - p\| \\ &\leq \|(1 - a_n)(x_n - p)\| + \|a_n((1 - b_n)x_n + b_nT(x_n)) - p\| \\ &\leq \|(1 - a_n)(x_n - p)\| + \|a_n(1 - b_n)(x_n - p)\| + \|a_nb_n(Tx_n - p)\| \\ &\leq (1 - a_n)\|x_n - p\| + a_n(1 - b_n)\|x_n - p\| + a_nb_n\|x_n - p\| \\ &= \|x_n - p\|. \end{aligned}$$

Hence $\lim_{n \rightarrow \infty} \|x_n - p\|$ exists. Let $\lim_{n \rightarrow \infty} \|x_n - p\| = r$ where $r \geq 0$ is a real number. By T is quasi-nonexpansive mapping then we have $\|Tx_n - p\| \leq \|x_n - p\|$ for all $n = 1, 2, 3, \dots$, so

$$\limsup_{n \rightarrow \infty} \|Tx_n - p\| \leq r.$$

Also

$$\begin{aligned} \|y_n - p\| &= \|(1 - b_n)x_n + b_nTx_n - p\| \\ &\leq \|(1 - b_n)(x_n - p)\| + \|b_nTx_n - p\| \\ &\leq (1 - b_n)\|x_n - p\| + b_n\|x_n - p\| \\ &= \|x_n - p\| \end{aligned}$$

and we get

$$\limsup_{n \rightarrow \infty} \|y_n - p\| \leq r. \quad (3.1)$$

By S is quasi-nonexpansive mapping then we have

$$\limsup_{n \rightarrow \infty} \|Sy_n - p\| \leq r.$$

Moreover, $\lim_{n \rightarrow \infty} \|x_n - p\| = r$ means that

$$\lim_{n \rightarrow \infty} \|(1 - a_n)(x_n - p) + a_n(Sy_n - p)\| = r.$$

By Lemma 2.1, we get

$$\lim_{n \rightarrow \infty} \|Sy_n - x_n\| = 0. \quad (3.2)$$

Now

$$\|x_n - p\| \leq \|x_n - Sy_n\| + \|Sy_n - p\| \leq \|x_n - Sy_n\| + \|y_n - p\|,$$

then we get

$$r \leq \liminf_{n \rightarrow \infty} \|y_n - p\|. \quad (3.3)$$

By (3.1) and (3.3), we get

$$\lim_{n \rightarrow \infty} \|y_n - p\| = r. \quad (3.4)$$

That is

$$\lim_{n \rightarrow \infty} \|(1 - b_n)(x_n - p) + b_n(Tx_n - p)\| = r.$$

By Lemma 2.1, we get

$$\lim_{n \rightarrow \infty} \|Tx_n - x_n\| = 0. \quad (3.5)$$

And we consider,

$$\begin{aligned} \|Tx_n - y_n\| &= \|Tx_n - (1 - b_n)x_n - b_nT(x_n)\| \\ &= \|(1 - b_n)Tx_n - (1 - b_n)x_n\| \\ &= (1 - b_n)\|(Tx_n - x_n)\|, \end{aligned}$$

then by (3.5), we get

$$\lim_{n \rightarrow \infty} \|Tx_n - y_n\| = 0. \quad (3.6)$$

By Definition 2.3, we consider

$$\begin{aligned} \|Sx_n - x_n\|^2 &\leq [\|Sx_n - Sy_n\| + \|Sy_n - x_n\|]^2 \\ &= \|Sx_n - Sy_n\|^2 + 2\|Sx_n - Sy_n\|\|Sy_n - x_n\| + \|Sy_n - x_n\|^2 \\ &\leq \alpha\|Sx_n - y_n\|^2 + \alpha\|Sy_n - x_n\|^2 + (1 - 2\alpha)\|x_n - y_n\|^2 \\ &\quad + 2\|Sx_n - Sy_n\|\|Sy_n - x_n\| + \|Sy_n - x_n\|^2 \\ &= \alpha\|Sx_n - y_n\|^2 + (1 - 2\alpha)\|x_n - y_n\|^2 + (1 + \alpha)\|Sy_n - x_n\|^2 \\ &\quad + 2\|Sx_n - Sy_n\|\|Sy_n - x_n\| \\ &\leq \alpha[\|Sx_n - x_n\| + \|x_n - y_n\|]^2 + (1 - 2\alpha)\|x_n - y_n\|^2 \\ &\quad + (1 + \alpha)\|Sy_n - x_n\|^2 + 2\|Sx_n - Sy_n\|\|Sy_n - x_n\| \\ &= \alpha\|Sx_n - x_n\|^2 + 2\alpha\|Sx_n - x_n\|\|x_n - y_n\| + \alpha\|x_n - y_n\|^2 \\ &\quad + 2\|Sx_n - Sy_n\|\|Sy_n - x_n\| + (1 - 2\alpha)\|x_n - y_n\|^2 \\ &\quad + (1 + \alpha)\|Sy_n - x_n\|^2 \end{aligned}$$

then

$$\begin{aligned} (1 - \alpha)\|Sx_n - x_n\|^2 &\leq (1 - \alpha)\|x_n - y_n\|^2 + 2\alpha\|Sx_n - x_n\|\|x_n - y_n\| \\ &\quad + 2\|Sx_n - Sy_n\|\|Sy_n - x_n\| + (1 + \alpha)\|Sy_n - x_n\|^2 \\ &\leq (1 - \alpha)[\|x_n - Tx_n\| + \|Tx_n - y_n\|]^2 \\ &\quad + 2\alpha\|Sx_n - x_n\|[\|x_n - Tx_n\| + \|Tx_n - y_n\|] \\ &\quad + 2\|Sx_n - Sy_n\|\|Sy_n - x_n\| + (1 + \alpha)\|Sy_n - x_n\|^2. \end{aligned}$$

By (3.2), (3.5) and (3.6), we can conclude that

$$\lim_{n \rightarrow \infty} \|Sx_n - x_n\| = 0 = \lim_{n \rightarrow \infty} \|Tx_n - x_n\|. \tag{3.7}$$

□

Theorem 3.2. *Let C be a bounded, closed and convex subset of a uniformly convex ordered Banach space (E, \leq) . Let $S, T : C \rightarrow C$ be monotone α -nonexpansive mappings. Assume E satisfies Opial's condition and the sequence $\{x_n\}$ be defined by Ishikawa's iteration with $x_1 \leq Sx_1, x_1 \leq Tx_1$. If $F(S) \cap F(T) \neq \emptyset$ then $\{x_n\}$ converges weakly to a unique common fixed point of S and T .*

Proof. From we let p be a common fixed point of S and T and $\lim_{n \rightarrow \infty} \|x_n - p\|$ exists. Next we will prove that $\{x_n\}$ has a unique weak subsequential limit in $F(S) \cap F(T)$. Let u and v be weak limit of the subsequences $\{x_{n_i}\}$ and $\{x_{n_j}\}$ of $\{x_n\}$ respectively. By Lemma 3.1, we have $\lim_{n \rightarrow \infty} \|Sx_n - x_n\| = 0$ and $I - S$ is demiclosed with respect to zero, respectively. Therefore, we obtain $Su = u$. Similarly, $Tu = u$. Again in the same fashion, we can prove that $v \in F(S) \cap F(T)$.

Next, we will prove the uniqueness by Opial's condition,

$$\begin{aligned} \lim_{n \rightarrow \infty} \|x_n - u\| &= \lim_{n \rightarrow \infty} \|x_{n_i} - u\| \\ &\leq \lim_{i \rightarrow \infty} \|x_{n_i} - v\| \\ &= \lim_{n \rightarrow \infty} \|x_n - v\| \\ &= \lim_{j \rightarrow \infty} \|x_{n_j} - v\| \\ &\leq \lim_{j \rightarrow \infty} \|x_{n_j} - u\| \\ &= \lim_{n \rightarrow \infty} \|x_n - u\|. \end{aligned}$$

This is a contradiction, then $u = v$. □

Theorem 3.3. *Let C be a compact, closed and convex subset of a uniformly convex ordered Banach space (E, \leq) . Let $S, T : C \rightarrow C$ be monotone α -nonexpansive mappings. Assume E satisfies Opial's condition and the sequence $\{x_n\}$ be defined by Ishikawa's iteration with $x_1 \leq Sx_1, x_1 \leq Tx_1$. If $F(S) \cap F(T) \neq \emptyset$ then $\{x_n\}$ converges strongly to a unique common fixed point of S and T .*

Proof. By Lemma 3.1, $\lim_{n \rightarrow \infty} \|Sx_n - x_n\| = 0 = \lim_{n \rightarrow \infty} \|Tx_n - x_n\|$. Since K is compact so there exists a subsequence $\{x_{n_i}\}$ of $\{x_n\}$ such that $x_{n_i} \rightarrow q$. Continuity of S and T gives $Sx_{n_i} \rightarrow Sq$ and $Tx_{n_i} \rightarrow Tq$ as $n_i \rightarrow \infty$. Then we get

$$\|Sq - q\| = 0 = \|Tq - q\|.$$

This results $q \in F(S) \cap F(T)$ so that $\{x_{n_i}\}$ converges strongly to q in $F(S) \cap F(T)$. But again by Lemma 3.1, $\lim_{n \rightarrow \infty} \|x_n - p\|$ exists for all $p \in F(S) \cap F(T)$ therefore $\{x_n\}$ must itself converge to $q \in F(S) \cap F(T)$. This completes the proof. □

Acknowledgement(s) : The first author would like to thank Department of Mathematics, Faculty of Science, King Mongkut's University of Technology Thonburi (KMUTT) for financial support. Furthermore, the second author was supported by the Theoretical and Computational Science (TaCS) Center (Project Grant No.Tacs2559-2).

References

- [1] K. Aoyama and F. Kohsaka, Fixed points theorem for α -nonexpansive mappings in Banach spaces, *Nonlinear Anal.* 74 (2011) 4387-4391.
- [2] W.R. Mann, Mean value methods in iteration, *Proc. Amer. Math. Soc.* 4 (2013) 506-510.
- [3] S. Ishikawa, Fixed points and iterations of non-expansive mappings in Banach spaces, *Proc. Amer. Math. Soc.* 59 (1976) 65-71.
- [4] S.H. Khan, W. Takahashi, Approximating common fixed points of two asymptotically nonexpansive mappings, *Scientiae Mathematicae Jaaponicae Online* 4 (2001) 133-138.
- [5] G. Das, J.P. Debata, Fixed point of quasi-nonexpansive mappings, *Indian J. Pure. Appl. Math* 17 (1986) 1263-1269.
- [6] W. Takahashi and T. Tamura, Convergence theorems for a pair of nonexpansive mappings, *J. Nonlinear and Convex Anal.* 5 (1995) 45-58.
- [7] J. Schu, Weak and strong convergence to fixed points of asymptotically non-expansive mappings, *Bull. Austral. Math. Soc.* 43 (1991) 153-159.
- [8] Z. Opial, Weak convergence of the sequence of successive approximations for nonexpansive mappings in Banach spaces, *Bull. Amer. Math. Soc.* 73 (1967) 591-597.
- [9] J. Gornicki, Weak convergence theorems for asymptotically nonexpansive mappings in uniformly convex Banach spaces, *Comment. Math. Univ. Carolin.* 30 (1989) 249-252.

(Received 8 February 2017)

(Accepted 8 February 2017)